[bookmark: _GoBack]In the database, we created 5 table; they are: Customers, AccountType, TransactionType, Account, Transaction. For each table we have entered multiple columns and rows. In table customer we have 20 rows, table AccountType contains 2 rows, table TransactionType 2 rows, table Account 20 rows, table Transactions contains 20 rows. The Number of unique values stored in the columns are: for table customer we set Customer ID as primary key, for AccountType we set AccountTypeID as PK, like wise for TransactionType we have TransactionTypeID, for table Account we have AccountID. In our database the most frequently occurring values for columns is 10001.  We have 2 index key in table Customers. The correlation of the columns to other columns is primary key and foreign key in our database table Accounts is correlated to table TransactionsType similarly table Transaction is correlated to table Transactions. Structural state of the index: 
   create index CustomerState
    on Customers
    (State, City) 
create index CustomerPhoneNumber
    on Customers
    (LastName, PhoneNumber)                                                                                                           

The Amount of storage used by the Database object is 5MB.














































































